H30-057.xIsx

CASBEE-T#i- 2 (5 §)

84Ehi
R E Rl B 5T

[ |memEsrgasse=A

A7

W AT =17 CASBEE-B#H- R 5 (5 5)20184

| B2

CASBEER#-#1%£2018 (v.1.0)

RA7I—k SRR AR

g5 |EREAICH Bk £ANS | EE-FANS
EEIER 15 E 3 H2ERET BRE AR OMERLARN 2&
HREDRE g 27 |mmsi 22
% L % B
Q EEMORESHE 3.0
Q1 EREIE 0.40 - 3.2
1 ERE 40 1 015 1.00 3.4
1.1 EREZLAIL 30 | os0 0.50
1.2 &S 50 | 050 0.50
1 [BAOAREE A Yo DEEPEAET-2 50 | 1.00 0.30
2 |REFEEMEE - 0.30
3 |RERESMHEE(GEHER) 0.20
4 |RERESHEE(BEHER) 0.20
1.3 BE - -
2 BRBEIH 30 ! 035 1.00 3.0
2.1 =i 30 | 050 0.50
1 |Z=R 30 | 063 0.63
2 [SERfERE 3.0 0.38 0.38
3 |J—=2 Rl - -
2.2 TR 30 | 020 | 30 | o020
2.3 ZHARAR 3.0 030 | 30 | 030
3 k- 33 | 025 | 29 | 1.00 3.0
3.1 BAeFIA 4.2 0.30 1.9 0.35
1Rk OEA |A2EmER) 1A RHEIT% 5.0 060 | 20 | o050
2 | AERIEEO - 1.0 0.30
3 |BAFIREE OHR |BENE) 3.0 040 | 30 | o020
3.2 JL7x% 3.0 030 | 4.0 0.35
[ 1 [Besif OBA |BltENE) |E+H—Tv 30 | 1200 [ 40 | 100
3.3 BE 3.0 0.15 - -
3.4 HRBAHIfE 3.0 0.25 0.29
4 BREWE 36 | 025 1.00 3.7
41 RERXE 4.0 0.60 0.63
[ 1 TeswE MEMEL TR AL X A EHEA 40 | 1.00 1.00
4.2 R 3.0 0.40 0.38
1 |BsE 3.0 0.50 0.33
2 |BRBRIERE OEA |A2EHRER) |BEARSEVEOEENBEREHENI/BUL S 0.33
3 |RYANSATA~DEE 3.0 0.50 0.33
43 EREE - -
1 |CO,MEER
2 |ELYE ) i) 1 )
Q2 H—EXMHE = 0.30 - 3.1
1 HRETE 25 | 040 1.00 3.4
1.1 BEEE-fFELV DTS 3.0 0.40 0.60
1 |IEE-URdRtE - -
2 |SEBEREERBET SER 5 1.00
3 |/\YF72Y—&tE @K1l D EE#E) 3.0 1.00 =
1.2 DM -REE 1.0 0.30 0.40
1 AR oLt |comEmsm) - 0.50
2 [UTLyPaRR—Z 5 =
3 |REEE CYEEY PIEEEE S 1.0 1.00 0.50
1.3 #BERE 3.5 0.30 =
1 [#EEEICRELI-E RRED1AFEL2REHNER BN <ERERE [ 40 | 050
2 |MBEERBEOER 3.0 0.50
2 At {E3E 3.0 ! 0.30 3.0
2.1 M- R E- flE- flik 3.0 0.50
1 |HEEGEYDCHIIZLS) 3.0 0.80
2 |RE-HIE- fliRERE 3.0 0.20
2.2 #Bém - M O FAER 3.9 0.30
1 |SRAEME O AER okt |AcEmER) 30 | 020
2 [5EE FF M OBIELERIR BAILEEY 5.0 0.20
3 |FERELLEFHOEHLERR K:EE44)L B :E-)LYOR XF: EZLIAR 4.0 0.10
4 | ZRBEL IO EFHERIG 3.0 0.10
5 |ZR-BHKRED RSN E LR EBRGAR MO, AEFEULISBUEEFERALEETHER | 5.0 0.20
6 |[FEZERFOEHLERR 3.0 0.20

1/2




H30-057 .xIsx A7

2.4 55 2.0 0.20
1| ZEER - R s 1.0 0.20
2 |#HEK- B E 3.0 0.20
3 |EXElE 1.0 0.20
4 |BW-EEXEAE 3.0 0.20
5 |@IE-1EREE 2.0 0.20 =
3 Wbt EHE 3.0 0.30 1.00 2.8
3.1 ZREDpEY 5 26 | 050
|1 [EEoney 3.0 | 0.60
| 2 [Z=Momik-BlEs x4l [A(2EIRER) 20 | o040
3.2 REOWPEY s 3.0 0.50
3.3 RiEOEHM 3.0 1.00 =
1 |ZEHREEDEFME @Xt] |AREIRER) 3.0 0.20
2 |[#HKEDEHM oxy] |AzEmER) 30 | 020
3 |ESEKEOEHME oxy] |AzEmER) 30 | o.10
4 [BERKOEHME oxy] |AzEmER) 30 | o.10
5 |ERiE#sRDEHME oxy] |AzEmER) 30 | 020
6 _|N\ITITAR—ZDHER 3.0 | 0.20 -

Q3 BN IRE (EUhRA) — 0.30 > - 2.7
1 EPBEQORELEH oLt |A (2EmHER) 20 | 0.30 = 2.0
2 L5 BEA~OER o [siEame 30 | 040 - 30
3 Hhigtk - FA=TA~DER 3.0 | 0.30 - 3.0

3.1 HEEADERE, HEtD R oLt |v cmmem 30 | 050

3.2 BubNRERIEDME 0Lt |ACERER) 30 | 050

LR EEVORIBEAFIEREE

LR1 TR)LF¥— — {040 | - - 3.4
1 BWsl B RE R BPIm0.90 0.20 = 3.0
2 BRIRILX—FIHA oux [A2EIRER) 0.10 = 3.0
3 Bl XTLOEMEL ®E#% |coaamA) [BENBEmM]I= 091 0.50 = 3.9
4 ShERER 0.20 = 3.0

S5 EEUS OFHE 2

41 |E=RYVYT

42 |BRAEEAG 5
SEEEDFHE 1.00

41 |E=RYVY 0.50

4.2 |EREERKE 0.50 .

LR2 &iR-?TUT7I — 0.30 - 3.2
1 KERRE 3.4 1 0.20 = 3.4

1.1 #iK HAKIATIZINAEKERDEA 4.0 0.40 -

1.2 Fﬁ7k$l - #EKEDFIH 3.0 | 0.60
MAKFACRATLEADNEE | @08%K |ACERER) 30 | 070
HHKEFRALATLEADHE 3.0 0.30 =

2 SFEﬂ_ﬁﬁﬂﬁwﬁﬁﬁnﬁﬂﬁ 3.3 | 0.60 z 3.3

2.1 MEHEREOHIR oxt] ggﬁggg 20 | o010

2.2 BREZEFAEOBREGER 30 | 020

2.3 BHMEIZEITBUH 1oL O | exu [5EIDE 30 | 020

2.4 BEHHLUNZBITBUF oL | @xe |& SHREM |BEES — KT EHRE) 40 | 020

25 BHARLEANOERSNAN | @am [5HEERE 30 | 010

2.6 BHOBFIAAEEER E~DOEIEA | @XH |A(2EiR#ER) |LGS 4.0 0.20 =

3 ERpEEAMHEOERARE 3.0 | 0.20 = 3.0

3.1 HEVEEEFLLHEOER 3.0 0.30 =

3.2 7Oy -0V D[E 3.0 0.70

1 [H A - 5
2 |FAak|(MEME) 3.0 0.50
3 | 3.0 0.50 =

LR3 Bt s IR 15 = 0.30 = - 3.1
1 HEREEIE~DERK SA7H AL CO2HEDERE 3.4 0.33 . 3.4
2 HEBRIE~DER 28 | 033 = 2.8

2.1 ARUEEHIE 3.0 0.25 =

22 RERBELORE 0Lt |AERER) 30 | 050

2.3 #1275~ D EFHF 25 | 025

1 |FkEEKEBFIER 3.0 0.25
2 [SBKAnEE & fer i 30 | 025
3 338 B il 3.0 0.25
BREYNIEE RN 1.0 | 025 =
3 Jﬁmﬁﬁ«wﬁm 32 | 033 = 3.2
3.1 BE-RE-ERDOMLE 3.0 0.40 .
S 3.0 0.33
2 |iRED 3.0 0.33
3 |ER 3.0 0.33
3.2 RE-WE-HREZ O 3.0 0.40
1 |RE 3.0 0.70
2 |BEQIF 5
3 |HEEZ DM 3.0 0.30
3.3 XZEDHHI 4.4 0.20
1 |[=rEsmRvERRERO AR~ DMK RERRHAIRSAODFTVIIALDEEDBFEH-F | 5.0 0.70
2 |BEOBMABICIZRHFK(TLT)~AORE]| @&b |BUEEENS) 3.0 0.30
REAM O EAHA O:ERKEVAILICHKIHRE ERREX—T—FAH TRE:KREISHES TEtiedio> TEK): ARMDER

2/2



